Exercice 1

Réductions

A= —3x—10+4x+7 C= —922 -7—-7224+6+6x—7 E= 3x+ 15+ 92+ 18x + 17
B=3x+2—-9x -7 D= -7z —1—-7x+8+4x+ 3x F= —4x—-5+4+4zx+1
Exercice 2 Simple développement
A= 10(x + 3) C= 3(—9z +3) E= 22(10z —2) — 4
B= 8(—10z + 2) D= —102(—6z + 3) F= —3z — T2(—10z + 9)
Exercice 3 Double développement
A= (z+10)(x + 6) C= (=62 +9)(7z — 3) E= (—8z +8)2
B= (82 — 6)(—b5z — 10) D= (5 + 2)(—6x + 2) F= (22 — 6)2
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Solutions des exercices

Solution 1

A=—-3x—-104+4x+7
=—3x—10+4x+7
=—3x+4r—10+7
=(-3+4)xz—3
=xr —3

B=3x+4+2—-92 -7
=3rx+2—-9x -7

=3r—9x+2-7
=3-9)xz—5
=—6x—5

C=—92>—-T—-72°4+6+6x—7
=922 — 72 =7 -1+ 6x
=(-9-T)x2*+62—-7-1
= — 1622 + 6z — 8

Solution 2

A =10(z + 3)
=102 4+ 10 x 3
=10z + 30

B =8(—10x + 2)
=8 X —10z +8 x 2
=8(—10) x x + 16
=—80x + 16

C =3(—9z + 3)
=3 X -9r+3x3
=3(—9) xx+9
=—27x+9

Solution 3

A =10(z + 3)
=10z +10 x 3
=10z + 30

D=—-7c—-1-Tx+8+4x+ 3z
=—Tr—148—-Tex+(4+3)xx
=(-7T-T7)xax+T7+T7z
=—ldx+ 7+ Tz
=—ldax 47247
=(-14+T7)xz+7
=—Tr+7

E=3x+154+9x + 18z + 17
=3z+ 15+ (9+18) x z + 17
=3z + 15+ 174272
=(3+427) x x + 32
=30z + 32

F=—4r—-5+4x+1
=—4dr—-5+4x+1
=—4drx+4xr—-5+1
=(—4+4)xx—4
=0x — 4
=—4

D = — 10z(—6z + 3)
=—10x x —6x — 10x x 3
= —10(—6) x 2T +3(~10) x =
=602 — 30z

E =22(10x —2) — 4
=2z x 10z + 2x(-2) — 4
=2x10xz'™ —2x2xx—4

=202% — 4z — 4

F =—3z —7z(—10z +9)

=—3r—Txx —10x —7Tx x9
=32 —7(-10) x 2" + 9(~7) x =
= — 3z — 63z + 7022

=(—3 —63) x x + 7022

=702% — 66

B =8(—10x + 2)
=8 x —10z +8 x 2
=8(—10) x x + 16
=—80x + 16



C =3(-9x +3) E =2z(10x —2) — 4

=3 x -9 +3x3 =2x x 10x 4 2x(—-2) — 4
=3(—9) xz+9 =2x10x 2™ —2x2xz—4
=272+ 9 =202 — 4z — 4

F=—-3z—"7x(-10z+9)
=—3r—Txx —10x —Tx x9

D = — 10z(—6x + 3) =3z —7(—10) x 2" 4 9(-7) x z
=—10x x —6x — 10x x 3 = — 32 — 63z + 702>
=—10(=6) x z'*! +3(-10) x z =(—3—63) x z + 7022

_ 2



